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QUESTION 1

What most accurately describes the semantics modeled by the exhibit?

=<Componen ==
Invoicer

<< realizations=>>
HeaderGenearator
LineltemGenerator

A. HeaderGenerator and LineltemGenerator are Invoicer ports.

B. An Invoicer component is composed of HeaderGenerator component and a LineltemGenerator component.
C. HeaderGenerator and LineltemGenerator realize Invoicer.

D. Invoicer realizes Header Generator and Line Item Generator

Correct Answer: C

QUESTION 2

For what does an interaction operator define semantics?
A. a particular message

B. a particular combined fragment

C. a particular interaction fragment

D. a particular interaction

Correct Answer: B

QUESTION 3

What does a region in a state machine represent?

A. part of a composite state or a state machine containing transitions and vertices
B. contained state machine

C. concurrent object owned by the context object of the state machine
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D. separate thread of execution
E. concurrent state

Correct Answer: A

QUESTION 4

Refer to the exhibit. Invoicer and Special Order Entity are each preceded by a colon symbol, because they name what
type of component?

<<gomponent>>
Invoice

<<gomponent>>
i j’ I::I Invoice

Order
Friy

O
@[] SpecialOrder

<<gomponent>>
:SpecialOrderEntity

A. parts of an instance level collaboration
B. connection types

C. delegation types

D. assembly connectors

Correct Answer: A

QUESTION 5

What is permitted for the profile mechanism?
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A. creates new metamodels

B. removes existing metamodels
C. extends existing metamodels
D. changes existing metamodels

Correct Answer: C
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